navaeeschool.ir @navaeeschool

R0 olo Wil # (99037

L (alawgio Jof (50399) me SN M s 539

Jl3w A spgajl gl g | |S alaes

Sl oo o gojlod | Jaw Slaai i P
i3>\ . \ \e 310

FVARR ¥ " Ve ey
Wigs . Y\ \. it ol = lowT sbply
aids \ - [3 \. el 3
PEREY o A Y. SOl m ol

gt 5\ Y. ST
4i 85 YO M Y. SR pele
4> YO Ve Y. (i 5 G 305330 deomns SBARS) (ot 20 pole

oblb e T

B e Bgee ol 50l o e (Sldeol Ao s

ppane Lo (59 o (e damodsw iouib doguana el pl Jadyg)s S
=olowT sbply
it Olafthe

i Sy BeSh o LSy el Lo sl (53015 o el (2135 Spe oSSt )

Ol 13,8 (ihuaa 1 Glslo ot 1830 0/l ootk Ao i Jiasme e 3158 g Ty ozl ool S
epare e (T Jo> (9,5 Upws ol B
b 565 55 39 womis plll ladisdes] g s oouds
393038 dax g2 SIS ebll sus 31 (g Shwmw yensT ws9u ) L pgs siatllltunl (25 50 S 58 S pele
Slste om0 1 2975 5 pm 8 spAiandlzale Bgo (s pledl 9995 b9 ysS ol A s daml Al 1 uwlidigyao) 9 Camy

S 1 1 5393 Al laals 12 il 355 (b o

ey

ubliwlpg g ylySibiajS

i =alouT sloply . .
SN pele & el Slafliae ol w38 P

sl (5 50 2 K5
(e.\EAa.s!):Lc Ggo smlidiun s 5 a0) E2 SRR vET v Sals a5 o0 Jgmwo
e
Sedgaas! sl @Dl S 1 K50
(2t oiiont s b3 9 (e i ' ol Jaiog s Sl A St g
ool g g Ste o

ailgi g 14i0 g5

b sas sle 09037 095 s
paisodljle Uge 42555 Jghuo
b o)lg il Taxio g K09 >
T anw Lo pule ol b
o w2 Siluikiius 095 piro
&bl 415,38 & jlocitiun 582 798 Joiuwo

. a & . -
(Ple ig) 2ol (i jgoT ol SLs
-FEFY 15ali — AYY LM — alauald 9 o as Ml QLLA 55 ¥ 0 58
Ohisal 9 iuils b ks ya S ple a8 WAL Hgapeh )3 ks Gigel Lale Slis LT 9 b Abls plad




(g Jof 50139) el sl W0 skl £ (9037 =8 0592
aads Ve g JECA I
EN () —
il (aﬁhﬁqnlﬂ)?é)b‘sﬁﬁﬁ@mcq}ﬁ}%l{Mg}ff‘.).f&,g—\
A7 U7 sladxivw L ol s T - . e e
¢ €g95n o 0ly93 Ul 2ils OlusSy Lils / b5 Lo 3l e 1 (539 95 S 0935 s9»
16yl g LW lgo 2T on 4o (IS Bl hges LS/ Taal o 092 45 (535 S pike Oloy oS (1
Ve b0 sladmin Ty S8, ilue 434S o/ S s a2l 53 B> i (¥

96 Ol 55 Sul 95 (Ghaduzr b [/ B3l Jle s 394 U1 053 (¥
Sy om0 33 9 s 359 5/ U3 o5 )b & Bdlo 45 g5 4y 9 (F

Tl 0uds Liae Cawp3b o) (slasjly HI G i -Y
€5 395 a5 ol yiel 3l Gl + 4o 415 /0% p108 0 gile [ Kin3y3 9305 | Koy Nigaus 1plb | sgus Jomo: pudama | (63 55t s

% (F G 9o (¥ G aw (Y G k= (A
Tt (Mol (awy36 413 35 plaS £l uas s ¥
39 Jld g 58 oo salad 45T 0l (Y

OS WS (5,3 9 Sz 10 83 U5 (A
395 Slp G4ty bl LS (s @SN s (F
T31> (plgizee Gy db sizr (gt Ol gl so0lss 5 e -F
99,5 (S X) pSKady p ol )b 13 (Fhe (53 Casl (5508 5,2 piy 9 polez OB S Olpl S Olaiedils 5

€593 OLal ol yo Qliwg ity 43 Oldgobis e 13 (59 WO Hl us 23,5 b slassly of pU 4 1) «igllle Gaiizs» LS
DHlN olgie uw b (F (g Ggs(Y

RV-A 0 f)‘} as’ [,3|:sn bé),T £ I'"é (f

G aw (A
T39d izl g b 9 9 3,505 €oungislyo» Ojle plas -0
255083 Ny epidig ) Sy 51 K ol (Slawiir (s 545 Slaal 43 ()

S (g0 M5 (5 e 55008 2 b ) OT 3 pe il YL IS S ¢ 5 azm (¥
S Jsb s Cangd & 0355 0blobs 5 (rame Olaligsl Ol b slai (¥
391 03,5 yuul 1y (5B o .y 3951yl 3,8 3> 5,5 53 G WA (F

Tl plaS” i 5 4 5 Cam Jladl o <ozl -

oy Ol 53 4y (o Sz [ 35,5 (7gmo plz Oligls aea B>

v Jol (yasis Jal (F e Jyl (yazeds pgu (¥
ol Sglize Jldl LS5 L

G435 Job Olej sl ol 435 Sl 51 K Cuwsss gl puas Sl )3 457 Jladl oy -V
Ui Cal S g A oS yuga 9 T S/ S 515 pabisal g Sl 43 92 (A
Cuibgs 13l oS 9 055 32 k> 395 4 B/ ApAS (o e Cealb 315 51 5la 5 az 0T 5 (¥
Sty Olpg¥3 iy 95 iy A4S Ly / kS S’ &5 o5 iy 45 Sl 0T o (V
S5 0b) 03551 95 Ugz [ 34hS (Bl Osz 8 9 & o5 (F
F,15 €guali» «ay plas’ -A
by ) Koz Lo Sigm (saRy 53 / JiloisSl ol 4y O 1) 85 (SilasS” olo (sl (A
T 534 Olass) ol O 3148 ably/ Cosgl 95 Gl s 93 o3 45 Ol 025 (¥
Slaslels Olawctio 51 oine / 9ilols Olazsioe 31 sie (¥

PR ol (oo OIS 655 10/ sle y 55 Olasy ol 51 5 ,u8ds (F
Ciare? 3,105 (cogpie Cumwlio 4iy 35 plaS L €pinaS 53 OBSE b a8 S/ piney Ol ol K58 Gaws (o> prisdnhad -4

ol o 5l (G
3,5 Ay (oS (plgS i) 5/ 558 mag Gss 5 e 4 ()
AT 9 U 4ot (ol / diaso 51 JugglS 9 5 0 (Y
P91 S5 5 9l b den / ol Sz Gags o5 e 4 (W
Ay Sl 9l 42 45/ dioe Olo) OT 3 oy 43 (F

ol S35 505 Solie pogdo 4 S4is ;S Cuy pogde=) -

s b (5L 316359l Cawd 45 slasl B Clhasily Olush

2T 5 5 0l b OBl ay sy 5 b / 33T s o pIST 6 s b 31 s (3
145 4 Glulas Heh MK 3alSG o2 B/ e 193 O ) St b Cawd 03 4l (Y
Ty 55 e sl Jile 9T (S / (5 /K0 03 Ko el Jae Lo (¥
e ainT Tbl az duo 5 (B / o arel Sadl az by e (F




f i saxio (dawgio Jol (50 399) pe S4b 10 wawl £ 9037 —8 s0595

ETIC NI
=2 =
(0535 ay o153) Fm slin (L33 3 Tolow 2alis ¥ 1 50l Bl e 5 el S S -1

A B Glraxio

S (¥ el (v Ll (x 536141 ()
Al b b1 s sk 783 o Seand p10S Gy saaz 51 Y
L gt a3 ol 5l Ias Olie a8 w5 | Graas 450 ()
(S e 59d 5 3 Olie wglus (S 500 1) cmis SH(Y
S oo @ 5l 5l s 1) Clde S gs | i S (Y
1S e 590 5) 511, Gihie T S 550 1, et oS a (F
S G b daz 5 plaS-AY
8 ol a5 S35l plesl gl sl g ce el e )
il ey ) s plamsde e s s o) e L;;.N)Jw;i,\» o s (Y
3,85y 1 il s Wl sl o) 285 L S (Y
Lol ey ol S8 a8l el ae Ly Loy 11 (F

Sl 048 daz 5 Caw sl 4y 5 oS A F

o sl Sl s ] s (7 ot 1l Gl sl s s (8
o o ol 0 e 2 5l o5 (F a8 a (1
Aol 1z o 3 vy somall L2 VI B3, S8 o oSS s 1y e alS A1aS-10
LA (E e ? el (v ? 2L (8
Sl sl sl line Lol slas-A
rLé = uﬂs'\—f.’ O
B E sk (Y

JUa # b (¥
Jar = gos (F
OWERE SN VPN SRIT ALY
= 5all (F el (v pekdl (¥ RPIQ
Sl s 4 5 plaS-1A
3 bl iCos iy 51l (Y s Lo sl 31 g 0
ol Sz b Sy 51 gl (F ks Y Gl 31 g (7
/ §3,005 5525 Aoy S 5wy S plaS 5314

s gl o) i Y (Y (il 5 6 Sh (Kke ()
o Wil s JUs Y (F (o) 4l Jpmey oon el gl (¥
Ginio 5 ) A5l S 5 e sall e Tagall () Slel 3] o> S D0 4SS5 le Y
Wizs yod
o) (Y Slel ) (3
Lo (F S5l (v




0 sdxiv (dawgio Jol (50 399) pe S4b 10 wawl £ 9037 —8 s0595

s [ ol splsslogtzn |

oleT sloply I T L st Te s oS
AD 5 VF s 4_1.93)|69)‘94_.0)@fl-iib)bdkgusg....e:uou‘b)ba‘b.\.i:r.gbq.ou)brmdsws—f\

e bl ot ls S

Sgdi o0 — Cnnnass (F Sgds g0 — Sl (Y Dgain 03 — Cnanass (Y dgdn s — el (A
T3gdg0d jlod OAd Jbb couw 413 35 pIAS7 53 5L OlaS) 53 03,5 Kb -YY

A S sl Hlai 5T S, o (Y SIS S g e pod CaaSy 45 (A

S S s i pgd Sy o (F ST S 0 Sled poun aaS o (V
Tz 3 Cuwgd 50003 (U2) p ST sl 9 95 Guiiian 50,155 (¢) e plol Cinogs 5 4-YY

7z 5l SS w5 - Olesl Gil33l Jale (¥ Olosl 503 5 o 51— Olagl G331 Jule (A

Olozl 05 51 ¢y 51— sl pws 9 9051 5 (F 5% 2 3 S S 5 = dalo o 9 4591 (2 5 1 (F
el 090 ol 90 Cuwgd Hl gy Sl g Cawl 13,595 1 (2 IL Caeal S .. Oly9s 5 Cawgs Ol -YF

e o &= Slgrg (F L - Slezg (¥ ey 4= Slo (¥ ¥ - Sle= ()

23 ey Lol oo slales (65 LS4y 5 A8 oo HIKAT 1) Cawgs Lol 3 C83 Casal Jule 4z iS4y =Y
Ty e az bl cole
S 525 praans 9 SN 3535 Gl 33— g b BLIHI 5o (Sl Ciblse gy 5 2Bl ()
G 9 (SN ) —Cuawgd by Blijl o (Sludl Liblge g5 9 2BsSs (¥
S s 5 I 5335 i3] - Cawgd S 5 Sl 1 (5,3 56 Ol3ae 0392 WU (F
G55 9 FIS vy —Cawwgs SV 9 Slino 31 (5,3 ,8T Olwe 0399 YU (F

aads &

el lalll sl iy |

i Ol —_—
AL AD sladmio | O,z o=l Gty Lo 51 Splas™ Ol 48 OB 150 09,5 b 5 Ligz slyzle yo LSl el JWis 4-Y§

(@35 @ ol53) To99 ax [y=la ol 13 OUT saiwlgs g culs sage 1y
Al cdlae Gul - (Sleag dilcsT (Y Lo pudoee JuSits =  Slgage il (A
GBlas Gl - o LbLb dlilcyT (F Lygds uloea Jo5i5 - o UblLb diflcyT (¥
Pt b8 ramad L g (Glasindy Ly ol e dazo 53,57 )3lo | abg st Ol b . .. s 3 ol o9 )] ke YV
S 1,8 5 0,90 1) solail alisly
OLudSl- 5 \YAD (F OludSSl - 3 \ YOA (¥ gy =i VYAD (Y gy - VYOA (A
Tag2 4z bl 41 59,59 ) pedite ol Ban 5 ad HET 458z pgs Silez Kiz-YA
Ol 5 Sl Glwguler 5 Gluwlisn IS 9l 09 s~ Obigd 43 Ol SGST sales | ()
Oyl 31 ST Glusguilr 9 Glulido 15" 051y gy~ poT Laawgs (5 ool Olsbias b (¥
Ul95 Sgw 4 Ol pl SISl g golie 9 CupmBge 1 03litusl — IS ol baawgi (5 o3l Ololeos b (V
D95 39 43 Ol ol SISl g aslie 9 Cuazigo 1 okl — Olingd 4 OlJT SLSL sales L (F
Tl puolze Oly9d )3 (P b Glacwasis plaS” Slalsdl dlox 5l o 54y ) s )le I SO ,a-Y4

Olpl 13 e il GRS 4l -0 3350 YA U39S asils 3 -l
Ol o231 paianss a5 S O e g 505 -

LSl b e V41 51> 51,58 Sl -
Wy llsgs —oliolis ) — SLalS dlc T - olislid )y — s 3aly S juo (A
Ay loMe —oLild ) dasea — SLolS iy T —oLislis ydamma — 1350 ulss pual (¥
Aol —olilds ) — Guan 35 —olilis ydamme —Is 98 pwlac el (¥
Wgull3eig —alisld yaeoms — Ghuan 5iS'5 —oslisls ) —sal) ,SKid pus (F
Taog SluS az 315,13 cpl slinil Olillses 5 391 ar OLdSSl 5 Ol ol Ol .p) 414 313,15 slaa-t'.
Sz Joze Feud 9 (e s T -l s &le 5l QLS (5515 538 542 (A
LS oo 9 (695 il Juth easts — kS Ol pLkmo St 53 Ol ol Jlo g allis gl (0,101 (458,515 (Y
sde T 5 (5598 dil Judb geads — Ol ol s @slie 31 QLTI (6515 30 40 (F
S dozme Fenl 9 o pe T - ol O it JLis] 53 Ol (Jlo g (ol sl (s0,l51 (38,5 )15 (F




] é'if:y % sdxin (dawgio Jol (50 399) pe S4b 10 wawl £ 9037 —8 s0595

S b3 Sladlaw G@ds 1
v

[PartA: Grammar ]

ol L)

VA b5 sladxio

31- Which of the following sentences is grammatically WRONG ? (i35 ay a(53)

1) What do you usually do before going to bed?

2) Who does teach you English this year?

3) How many brothers do you have?

4) How does your mother often go to work?
32- When ...up in the morning?

1) do you always get 2) always do you get

3) do you get always 4) you always get
33- A: “...does your sister do?”

B: “She is a teacher.”
1) How 2) What
3) Why 4) Who

[Part B: Expressions ]

34- A: “As a teacher, is your job easy?”
B: “.... It’s very hard.”

1) Yes, it is 2) Not actually
3) Yes, normally 4) It’s fast and cheap
35- A: “How do you go to your office?”
B: «...”
1) Because it’s fast. 2) It’s over there.
3) Thanks a lot! 4) I walk.
36- A: “What time do you say goodbye to your dad?”
B: «....”
1) Early in the morning 2) Late at night
3) On 9 Aban 4) At 8 o’clock

[ Part C: Reading Comprehension ]

My family and I are traveling to Tabriz by airplane. We live in Tehran, but we are originally
from Tabriz. My grandparents live in Tabriz. We are visiting them for Nowruz. They are very
kind and patient, and I love them. We are visiting our relatives, too. My aunt and my uncle live
there. We are going out on Nature Day in Tabriz.

37- They are traveling by .......... .
1) bus 2) train
3) car 4) airplane
38- They are traveling to ............. .
1) Tabriz 2) Tehran
3) Nature Day H1&2
39- When are they going to travel?
1) Summer 2) Nature Day
3) Nowruz 4) Autumn
40- Why are they traveling?
1) to visit relatives 2) to visit grandparents
3) to see a new city 4) for the Nature Day
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